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T {Shpunbnywib Lnpugp 0.4 ujunniy 33,88 16,94
2 |Gphqnpwl Pwgpwwn 0,2 uunnLy 16,94 8,47
3 |Uwpaquywl Upwpuh 0,2 uniy 15,25 7,62
4 |Uwhwljwl Pwpubn 0,3 upnniy 25,41 12.79
® |hwswnpjwl Lywd 0.1 wuniy 8,47 4,24
6 |UwpgqujwG Lnphy 0.1 upuniy 8,47 4,24

Chgquulkip’ Lniuwgynig 1,28 ,. 108,42 54,21
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1 |Pwpwuwlpwh Unipkl 3.5 wuinin o 296,45 148,22
Chnuukip Ununnwokh 3,5 S F 296,45 148,22
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ujnnin 50,82
2 13nydubithjwh Upw)hly ujnniy 33,88
3 | MbwnpnujwG Mubhy wjtnnin 42,35
4 |Qupphbpwi dnpw ujnniy 22,02
® |9uwpphbijwC Sphyw ujnnin 11,86
Cjiqudkip Ukduninp 160,93

«Ulylbwhd» 200 gnpéwnhp nbGopkl’ & fl]._l:i.pq!.umu.lﬁ




SENEtulvuve

<UuLULPrE> 20C UruLU 2UUUSLEP ONZUSNRSUUL 2UQULULUYLED 4EMULEM3UL CUS 2roasuanronuerb

- Eeaaeee ===y S e

= = ] R e T
211,75
211,75 105,88
254,10 127,05
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TGwnpnujwl NnpGpun
2 |Mwphpjwi Uwdyb
3 |UwGnilyjwG Unipkl
4 |Uhuwlyjuwl Uhuwly
5 |6hnpjwi Upnwywgn

6 |Qupphtjwi Lwagpn ujunnin 8,47 4,24
7 Uwpunhpnujwi Sphly ujinnin 60,14 30,07
8 JUwpgupjwi Usnin ujinniy 25,41 12,71
9 [Mbwnpnujwh Uk wiw ujLni 25,41 12,71
10 |Pwnlnupwi Ywnkh wjunnin 16,04 8,47
" 3wpnipnuljwh Guwgh ujnin 25,41 12,71
12 | 2wpwpywi Uuinnhy 0,10 ujunniy 8.47 424
13 13nwlChujwl wujuw 0,40 ujnty 33,88 16,94
14 [Udwpyuw0 LniuhGh 0,10 ujuniy 8,47 4,24
15 | Sbpunbpywl Swuwuwp 0,10 ujunniy 8,47 4,24
18 |3wlnpjwb Swphby 0,05 ujnnti 4,24 212

Chyuniblip’ Uhbwokl 7,26 614,92 307,46
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T 13ndhwllhujwl Puwgpuwin

2_|UwphpbljwG Uppwl

3 |Uwiniljwl LwdpbGunh

4 [3ndhwGGhujwb Sunlhy

5 |Ujbpuwbytil Nwwb 0,20 ujunni 16,94 8,47
8 |6GnpjwG QLnpg 0,20 ujnnin 16,94 8,47
7 13ndwhjwh Swnlhly 0,20 ujnmin 16,94 8,47
8 |Uwpqujwl Uwnnd 0,50 ujinni 42 35 21,18
9 {UwpqujwG Uguwn 0,50 wjunniy 42,35 21,18
10 JJwpnuwbjwh Ukpnp 0,10 ujniy 8,47 4,24
11 | 2npngulb Nwgihly 0,10 ujunnin 8.47 4,24
12 {bnowwmnywl 9phow 0,10 ujinmin 8,47 424
13l Jwpnuiljwi Jwprwi 0,14 ujnnin 11,86 593
14 Unwpbpwl Jwpnwb 0,10 wunmn 8,47 4,24
15 Ubpnpjwi dwhb 0.14 wjnnin 11,86 5,93
16 |13nyhwhGGhujwG Mnuphl 0,14 ujnin 11,86 5,93
7 1 wquipyw UGwguwlwh 0,10 ujunmn 8,47 4,24
18 |UwOntljwi UYbwnhp 0,20 wjuiniy 16,94 8,47
19 lUynquwwyG Snjwl 0.40 ujnLy 33,88 16,94
20 |Ubpnpjwh Snjwly 0,20 wjnnin 16,94 8,47




0,10 wuiniy 8,47 4,24
21 Uwpnjwh Uwpuhd D’ED S 16,94 8. AT
22 |Udnwyjwi Nnwphly 0'1 > i 9,32 4,66
23 Juwpnwijwh Lwbpn [}'14 — 11.86 593
24 Qwqupwl Uwwpunwly - g 32 4,66
0,11 ujinnin s
25 Jwpnipjnuljwi Uwinil 16.94 8,47
0,20 ujunin !
26 [Jwpnipjniljwh SEqwingy = = 16.94 8,47
27 |3nyhwibhujwG owbnud D’m 4 s 847 424
mn 1
28 |Uytinnhujwl UpdkG 3' D uullmnu] 8,47 4,24
29 Enlncul_u[l l-llu[Ian Dr1[} — 8.47 4 24
30 | Mbwnpnujw6 Updko : - 847 4.24
0,10 ujuam '
31 |Nwquipjwi 3w bun 514 wnnin 11,86 5,93
32 |UwpwhpnujwG Uhbp = o 8,47 4.24
32 |eninqjwl Nnjwin_ D"\D - 8,47 4,24
34 13nyhwhGhujwh Swnbhy D.1D ]:um]_q 847 4,24
35 | Pwnnuuwpiwl Cwnhly : 847 4,24
0,10 ujinnir) :
38 |Upubilywh Uynin vr i 847 4.24
37 |3wpnipniljwi Upéyhy EI’ED —— 16.94 8,47
38 Uwpqujwi MNndwb a'1D F— 8,47 4,24
* |Uwphwiligjwl Unipwg =1 e 11,86 5,93
49 |UdnywiywiG Uwjhu al?n 736,89 368.45
Chyudbip’ 2wjuskh :
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T [Uhpunsjwb UGGw
2 |UnwphkijjwG Usnin 0,10 ujunnin 8.47 4,24
3 |Unwpk)jwi Ywn) LG 0,10 ujunnin 8.47 4,24
4 [Unwphjjwh UwphGb 0,10 upunnn 8,47 4,24
5 |Unwpbpywh Jwiingy 0,20 ujinnin 16,94 8,47
6 |Unwpbijjw0 Snjwl 0,10 ujnnin 8,47 4,24
"_|Udbwnhujwl Uwpghu 0,10 wunnin 8,47 4,24
8 |Pwnwyjwi Uwpghu 0,40 Ny 33,88 16,94
® |Pwnwyjwh Uniphly 0,38 ujinnn 32,19 16,09
10 |puwhpywi UGGSWG 0,70 ujaniy 59,29 29,65
1 |hwswinpwi 3Indhwibby 0,20 wnniy 16,94 8,47
12 Thywswunpywl Uwihy 0,10 ujunnin 8,47 4,24
13 [3nyhwGihuywh Jhhy 0,10 ujnnin 8,47 4,24
14 Mwqupjwi Unn d 0,10 ujinmn 8.47 424
15 |Ubpuhuywh Uwphwid 0,10 ujunniy 8,47 4,24
18 | Mbwnpnujwi ©hynu 0,30 ujnniy 25,41 12,711
'7_|Utipnpjwl Snhwp 0,10 wjinnin 8,47 4,24
8 |bpwlnujwh fuwshl 0,20 ujnnin 16,94 8,47
19 |3wlnpjwl Uhuwly 0,70 Wiy ‘ 59,29 20,65
Cinunkbip” Qpunwin 4,28 |, 362,52 181,26
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